Incomplete Figures (Completion of Figures)

Completion of Figures is finding the missing part of figure from the given options, so that the option when
put at the missing place completes the figure.

Different types of questions covered in this section are follows

1. Rotational Symmetry Through an Angle of 90°

2. Diagonally Opposite Parts are Similar

3. Adjacent Parts are Laterally / Vertically Inverted Images

4. Based on Certain Design and Pattern
Questions based on completion of figure are divided into two parts, question figure and answer figures.
Question figure given on the left side with the answer figures given on the right side. The question figure is
incomplete as its one part ( generally 1/4 the figure) is missing denote by the question mark (?). Here, the

candidate is required to choose a figure out of the given answer figures that fits in the place of question mark
(?) in the same form as it is given to complete the design of the given question figure.

Different questions on completion of figures can broadly be classified into four different types, which are
explained as follows

Type - 1 : Rotational Symmetry Through an Angle of 90°

Tip# : In this type of questions, the question figure looks the same if it is rotated by 90° in clockwise or anti-
clockwise direction.

e.8-
: 2 If the figure (X) is rotated through : ! So, figure (X) and (X) are same.
R | ® | 90° in clockwise direction, then all R Now, if any of the parts of above
» | figure will change as . o | » | figure (X) is missing, then it can
be obtained by rotating the figure
L 3 x 2 90° in either clockwise or
) ) anti-clockwise direction.

Example -1 Identify the missing part of the given figure and select it from given answer figures.

Question Figure Answer Figures
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Solution: (b) Here, all the three equal parts have similar design, if rotated in clockwise direction. So, we can
obtain the answer figure for the missing portion by rotating the question figure by 90° clockwise.
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Now, by comparing figure (X) with (X'), we get
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Now, it is clear that answer figure (b) completes the question figure, which looks like as shown in the below figure.

Example -2 Identify the missing part of the given figure and select it from given answer figures.

Question Figure Answer Figure
? %% N
| 0
(X) @ ® @ @@

Solution: (c) Here, all the three equal parts have similar design, if rotated in clockwise direction. So, we can
obtain the answer figure for the missing portion by rotating the question figure by 90° clockwise.
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Now, by comparing figure (X) with (X"), we get
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Now, itis quite clear that option (c) will fill the incomplete part of the question figure (X). After completion, the figure will be look like
this,

Note: - 1. In some of the questions, the correct option for the missing figure can be given in any rotated from, so

candidate can rotate the figures to clock the correctness of option.
2. If answer figures contain similar figure but in rotated forms, then the correct answer figure is that figure

which can be substituted at the missing part with least change in orientation.



Example - 3 Which of the answer figures given will complete the pattern of the question figure?

Question Figure Answer Figures
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Solution: (b) Here, all the three equal parts have similar design, if rotated in clockwise direction. So, we can
obtain the answer figure for the missing portion by rotating the question figure (X) by 90° in clockwise
direction.
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Now, by comparing figure (X) with (X"), we get
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Clearly, option figure (b) completes the original figure which looks like as shown in the below figure.

Example - 4 In the following question, complete the missing portion of the question figure by selecting from
the given answer figures (), (b), (c) and (d).

Question Figure  Answer Figures
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Solution: (c) Here, all the three equal parts have similar design, if rotated in clockwise direction. So, we can
obtain the answer figure for the missing portion by rotating the question figure (X) by rotating the original
given figure by 90° clockwise.

? 90° clockwise
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Now, by comparing figure (X) with (X'), we get
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Now, it is clear that option (c) will replace (?) to make the figure complete.

Type - 2 : Diagonally Opposite Parts are Similar

Tip# : In this type of questions, the diagonally opposite parts have similar design and if the figure is
rotated through 180° in clockwise/anti-clockwise direction the figure remains the same.
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In figure (X), diagonally opposite parts i.e., 1-3 and 2-4 have similar design and figure (X) is rotated through
180°, then figure will change as
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So, figures (X) and (X') are same.

Now, if any of the parts of above figure (X) is missing, then it can be obtained by rotating the figure 180° in
clockwise/anti-clockwise direction.

This can be better understood with the help of following examples

Example - 1: Identify the missing part of the question figure and select it from given answer figures.

Question Figure Answer Figures
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Solution: (c) Here, the diagonally opposite parts have similar design.

So, we can obtain the answer figure for the missing portion by rotating the question figure by 180°
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Now, by comparing figures (X) and (X'), we get
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Example - 2: Identify the missing part of the question figure and select it from given answer figures.

Question Figure Answer Figures
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Solution: (a) Here, the diagonally opposite parts have similar design.

So, we can obtain the answer figure for the missing portion by rotating the question figure by 180°
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Now, by comparing figure (X) with (X*), we get
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So, it is clear that answer figure (a) completes the question figure X, which looks like as shown in the following figure.
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Type - 3 : Adjacent Parts are Laterally/Vertically Inverted Images

Tip# : In this type of questions, the adjacent parts are laterally/vertically inverted images of each other.

e.g.,

4 3
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In figure (X), 1 and 2 are laterally inverted images of each other. Similarly, 3 and 4 are laterally inverted image
of each other. Also 1-4 and 2-3 are the pairs of vertically inverted images of each other.

If any part of above figure is missing, then it found out by the vertical or lateral inversion of any of the adjacent
figure.

This can be better understood with the help of following example

Example - 1: Identify the missing part of the question figure and select it from given answer figures

Question Figure Answer Figures
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Solution: (a) Here, the upper two adjacent parts i.e., (1) and (2) have design which are laterally inverted form
of each other and the two left side adjacent parts i.e., (1) and (3) have designs which are vertically inverted
form of each other.

Then, the design in missing part i.e., (4) will be the laterally inverted form of the design in part (3). So, from
the answer options given it is clear that design given in option (a) is the correct laterally of (3) and it will
replace the (?) to complete the pattern.

Example - 2: Identify the missing part of the question figure and select it from given answer figures

Question Figure Answer Figures
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Solution: (d) Let the figure is

1 | 2
3| 4

Here, the upper two adjacent parts i.e., (1) and (2) have design which are laterally inverted form of each other. Then, the
design in missing part i.e., (4) will be the laterally inverted form of the design in part (3). So. from the answer options given
it is clear that design given in option (d) is the correct laterally inverted form of (3) and replace the (?) to complete the
pattern.

Type - 4 : Based on Certain Design and Pattern

Tip# : In this type of questions, they do not follow any of the patterns discussed in the previous types.
These questions contain a certain design or pattern with one of its parts missing. A candidate has to
complete the design accordingly.

This can be better understood with the help of following examples

Example - 1: Identify the missing part of the question figure and select it from the answer figures.

Answer Figures
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Solution: (b) Here, by analysis we can observe that the given pattern is of a doubled lined triangle.

Example - 2: Identify the missing part of the question figure and select it from the answer figures.

Question Figure ~ Answer Figures
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Solution: (d) Here, by analysis we can observe that in the figure the design of each line repeats itself in alternate lines.
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Q.3.

Q. 4.

Exercise

Select the correct figure from the given Answer Figure that would complete the Question figure.

Question Figure

Answer Figure
PWAN
(a) (b) (¢ (d)
(A)a (B)b C)c (D)d
Select the correct figure from the given Answer Figure that would complete the Question figure.
Question Figure Answer Figure
?
(a) (b) () (d)
(A)a (B)b C)c (D)d
Select the correct figure from the given Answer Figure that would complete the Question figure.
Question Figure Answer Figure
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(A)a (B)b C)c (D)d
Select the correct figure from the given Answer Figure that would complete the Question figure.
Question Figure Answer Figure
i
(a) (b) () (d)

(A)a (B) b C)c (D)d



Q.5.  Select the correct figure from the given Answer Figure that would complete the Question figure.

Question Figure Answer Figure
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Q. 6.  Select the correct figure from the given Answer Figure that would complete the Question figure.

Question Figure Answer Figure
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Q. 7.  Select the correct figure from the given Answer Figure that would complete the Question figure.
Question Figure Answer Figure
@ (b)) () (d)
(A)a B)b (C)c (D) d

Q. 8.  Select the correct figure from the given Answer Figure that would complete the Question figure.

Question Figure Answer Figure
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Q.9.
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Q.12.

Select the correct figure from the given Answer Figure that would complete the Question figure.
Question Figure Answer Figure
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Select the correct figure from the given Answer Figure that would complete the Question figure.
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Select the correct figure from the given Answer Figure that would complete the Question figure.

Question Figure
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Select the correct figure from the given Answer Figure that would complete the Question figure.
Question Figure Answer Figure
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Q. 13. Select the correct figure from the given Answer Figure that would complete the Question figure.

estion Fi
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Q. 14. Select the correct figure from the given Answer Figure that would complete the figure.
Question Figure Answer Figure
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Q. 15. Select the correct figure from the given Answer Figure that would complete the figure.

Question Figure Answer Figure
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Q. 16. Select the correct figure from the given Answer Figure that would complete the Question figure.

Question Figure Answer Figures :
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Q.17.

Q.18.
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Q. 20.

Select the correct figure from the given Answer Figure that would complete the Question figure.

Question Figure
Answer Figures :
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Select the correct figure from the given Answer Figure that would complete the Question figure.

Question Figure Answer Figures :
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Select the correct figure from the given Answer Figure that would complete the Question figure.
Question Figure Answer Figures :
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Select the correct figure from the given Answer Figure that would complete the Question figure.
Question Figure

Answer Figures :
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Answer Key

Q.1 A Q.2. C Q.3. A Q. 4. Q.5. B
Q.. A Q.7. D Q.8. A Q. 9. Q. 10. C
Q. 11. D Q. 12. B Q. 13. D Q. 14. Q. 15. B
Q. 16. B Q. 17. D Q. 18. C Q. 19. Q. 20. C




